
2024年度入学試験問題

英 語

注 意 事 項

1．試験開始の合図があるまで，この問題冊子の注意事項をよく読んでください。

その際，問題冊子を開いてはいけません。

2．この問題冊子のページ数は9ページです。

3．試験中に問題冊子の印刷不鮮明，ページの落丁・乱丁および解答用紙の汚れ等

に気付いた場合は，手をあげて監督者に知らせなさい。

4．解答は解答用紙の問題番号に対応した解答欄に一つだけマークしなさい。なお，

同じ解答欄に二つ以上マークするとその解答は無効となります。

5．解答欄の番号は全問①～⑥までありますが，問題によっては解答する選択肢が

六つ無い場合もあります。

6．解答には黒鉛筆（ＨＢ）を使用すること。

7．誤ってマークした場合は，消しゴムできれいに消し，消しくずを完全に取り除

いたうえ，新たにマークし直すこと。

8．問題冊子の余白等は自由に利用してかまいません。

9．解答用紙を持ち出してはいけません。

10．試験終了後，問題冊子は持ち帰りなさい。
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第1問 次の 1 から 10 の空所（ ）に入れるのに最も適切な

ものをそれぞれ1）～4）の中から1つずつ選び，その番号をマークしなさい。

1 （ ） these two arguments did you rely upon to reach your

conclusion?

1） What about 2） Which of

3） How about 4） Whose for

2 （ ）you are eighteen, you should pay more attention to politics.

1） Now that 2） What if

3） While in 4） Each as

3 There（ ）heavy rain, we had to give up playing baseball.

1） be 2） is 3） was 4） being

4 If I（ ）more careful then, I could have gotten a perfect score.

1） was 2） were

3） have been 4） had been

5 I wish I（ ）a new computer, although I cannot afford to do so.

1） could buy 2） buy

3） buying 4） have bought

6 The（ ）you exercise, the healthier you are.

1） many 2） most 3） more 4） much
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7 This music software uses AI technology（ ）the sound of natural

singing voices.

1） in generate 2） to generate

3） for generate 4） of generate

8 There is a widespread belief（ ）sports are good for health.

1） that 2） which 3） whose 4） what

9 It’s been almost ten years since I last met Mr. Yoshida. （ ）has

become of him?

1） Which 2） Why 3） What 4） How

10 My father has not understood the rule of the community（ ）.

1） already 2） yet 3） too 4） neither

2



第2問 次の 11 から 20 の英文中の下線部の意味として最も近い

ものをそれぞれ1）～4）の中から1つずつ選び，その番号をマークしなさい。

11 Visiting old historical sites could be a good learning experience for

young children.

1） expression 2） experiment

3） opinion 4） activity

12 He made a large amount of donation to build schools in various areas of

the country.

1） institution 2） contribution

3） location 4） satisfaction

13 He considered himself as a faithful disciple of Frank Lloyd Wright.

1） follower 2） master

3） descendant 4） candidate

14 Do you remember what is included in the shopping memo?

1） listed 2） exposed 3） imposed 4） invited

15 As far as I know, Alice has been happy since she began to reside in

Vienna.

1） travel 2） save 3） live 4） injure

16 If my professor asked me to answer the question, I would flee from the

classroom.

1） differ 2） escape 3） suffer 4） recover
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17 I came across my membership card when I was tidying up my room.

1） sent 2） renewed 3） found 4） lost

18 People have been exhausted by the pandemic for the last few years.

1） worn out 2） broken out 3） driven out 4） filled out

19 Many parents believe that their children need first-hand contact with

nature.

1） unprecedented 2） wonderful

3） significant 4） direct

20 The boy is not good at talking with people, but when it comes to

computers, he enthusiastically talks about them.

1） unwillingly 2） vaguely 3） eagerly 4） briefly
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第3問 次の会話が自然に進行するように， 21 から 25 の空所に

下の1）～6）の中から最も適切なものを1つずつ選んで入れ，その番号をマークし

なさい。ただし，同じものは1度しか使ってはならない。

Agent: Good evening. This is Ken, how may I help you?

Caller: （ 21 ）I was out shopping and I used it yesterday, but …

Agent: （ 22 ）Can I take your name and Social Security number?

Caller: Yes, my name is Martha Lewis and my Social Security is 378 59 2300.

Agent: And you think you’ve lost your card?

Caller: Well, it might have been stolen and that’s what I’m afraid of …

Agent: Have you tried looking for it?

Caller: （ 23 ） You know bedroom, under the bed. That’s where I

always keep my money, you know.

Agent: （ 24 ）

Caller: Just a couple of days ago when I went to the supermarket. I spent about

$125 on groceries.

Agent: Have you checked that the supermarket doesn’t have your card, ma’am?

Caller: （ 25 ）Perhaps I should go back and check there.

出典：J. Lockwood and H. McCarthy. Contact US! Trainer’s Manual:

Call Center English Skills.（Cambridge UP）

1） OK, let me take a few details and I’ll do my best to help you.

2） When do you last remember using it, ma’am?

3） Yes, I’ve lost my credit card and maybe someone has stolen it.

4） Oh, I hadn’t thought about that.

5） Yes, I’ve just been looking in the normal places.

6） I’ll go to the police to look for the lost item.
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Reproduced with permission of the Licensor through PLSclear.



第4問 次の英文を読んで，下の問いに答えなさい。

The availability of productive land suitable for cultivation is extremely important

to ensure sufficient food supply. Such land is becoming scarce due to soil

contamination and deforestation which cause soil erosion.

Today’s food production is increased by intensive agriculture and animal

husbandry, as well as the targeted use of fertilizers and pesticides. This may not

only pollute
⑴

both the groundwater and surface water, especially when used in

monocultures, but may also reduce the content of organic compounds, as well as

the number of organisms living in the soil. As a result the natural fertility of the

soil is reduced. Areas that have already been cultivated are often lost forever
⑵

due

to overuse, waterlogging, salinization, and desertification.

Tropical rain forests are often sites that are cleared for agricultural purposes.

More often than not, cultivating such land turns out to be problematic because

many of these areas are hardly suitable for intense agricultural activities. Long-

term use is usually only possible by selecting adapted seeds, fertilizers, and artificial

irrigation.
⑶

The latter may result in entire lakes dying out. An example of this

happening is the Aral Sea, which has completely dried out. The clear-cutting of

rain forests for wood or cultivation leads to large-scale soil erosion. Valuable land

is increasingly lost to housing developments, road construction, and the

development of recreational areas.
⑷

These developments seal the soil, lowering the

groundwater level, change the microclimate adversely, and deprive plants and

animals of their habitat. The flood risk increases due to the lack of rainwater

drainage pathways into the soil. Large quantities of waste are produced in the

industrialized countries every year and often disposed of in unsafe locations. This

waste includes toxic and sometimes even radioactive waste. If landfill sites are

insufficiently reinforced, toxic agents may seep into the lower layers of the ground

and, in the worst case, contaminate the groundwater. Appropriate and safe

disposal of toxic industrial waste products is very costly. Therefore
⑸

this type of
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waste is often “exported” to developing countries where it may not be disposed of in

an ecologically safe manner.

出典：National Geographic. The Science Book: Everything You Need to

Know about the World and How It Works.（National Geographic）

注 erosion 浸食 intensive agriculture 集約的農業

問1 本文の内容から判断して，下線部（1）から（5）の内容を説明しているもの，ま

たはそれが指しているものとして最も適切なものを，それぞれ1）～4）の中か

ら1つずつ選び，その番号をマークしなさい。解答番号は 26 から

30 とする。

26 ⑴ both the groundwater and surface water

1） water pipes situated underground

2） watering the surface of the playground

3） water in the underground and above the ground

4） surface water of the earth ground

27 ⑵ due to overuse

1） of using over the farmland

2） in order to use the farmland overtime

3） by using the farmland in due course

4） because of excessive use of the farmland
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28 ⑶ The latter may result in entire lakes dying out.

1） long-term use

2） artificial irrigation

3） intense agricultural activities

4） selecting adapted seeds

29 ⑷ These developments seal the soil

1） valuable land that is increasingly losing

2） improvements in housing facilities

3） developments of housing, roads, and recreational areas

4） large-scale soil erosion

30 ⑸ Therefore this type of waste is often “exported”

1） toxic industrial waste products

2） appropriate and safe disposal wastes

3） expensive industrial products

4） rainwater drainage pathways into the soil

問2 本文の内容から判断して，次の 31 から 35 の問いの答えと

して正しいものを，それぞれ1）～4）の中から1つずつ選び，その番号をマー

クしなさい。

31 What is important to ensure sufficient food supply?

1） Providing food aid to developing countries.

2） Improvement of food loss problems.

3） Safety of food ingredients.

4） Availability of productive land suitable for cultivation.
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32 What happens when food production is increased?

1） The soil is becoming less fertilized.

2） Fertilizers and pesticides used in agriculture are improved.

3） People make use of the reused farmland.

4） Organisms begin to live in the soils.

33 Which of the following sentences is true for tropical rain forests?

1） They turn out to be problematic when they contain pesticides.

2） They are useful for farmland in tropical countries.

3） They are not suitable for intense agricultural activities.

4） They are suitable for all agricultural purposes.

34 What caused the Aral Sea to completely dry up?

1） Lack of rain for a long time.

2） Loss of tropical rain forests.

3） Construction of many factories.

4） Development of artificial irrigation.

35 What does the clear-cutting of rain forests lead to?

1） Abnormal weather.

2） Violent flooding.

3） Lack of water.

4） Large-scale soil erosion.
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問題番号

正 　答 　表
一般Ａ日程入試1月30日試験入試区分： 英語科目：

正　　答 問題形式 備考

1 2 一問一答

2 1 一問一答

3 4 一問一答

4 4 一問一答

5 1 一問一答

6 3 一問一答

7 2 一問一答

8 1 一問一答

9 3 一問一答

10 2 一問一答

11 4 一問一答

12 2 一問一答

13 1 一問一答

14 1 一問一答

15 3 一問一答

16 2 一問一答

17 3 一問一答

18 1 一問一答

19 4 一問一答

20 3 一問一答

21 3 一問一答

22 1 一問一答

23 5 一問一答

24 2 一問一答

25 4 一問一答

26 3 一問一答

27 4 一問一答

28 2 一問一答

29 3 一問一答

30 1 一問一答

31 4 一問一答

32 1 一問一答

33 3 一問一答

34 4 一問一答

35 4 一問一答




